Marketed by:

Alpha Star trabinaG

sjioddns g
siabuen

Dubai, UAE:

P.O. Box 80955,

Deira, Fish Roundabout
Tel: 971 4 2234928
Fax: 971 4 2239349
Email: astartrd@eim.ae

Abu Dhabi, UAE:

Muroor Road,

Next to Red Crescent Bldg
Tel: 971 2 6417599

Fax: 971 2 6418511
Email: astarauh@eim.ae

Doha, Qatar:

Salwa Road,

Ain Khalid Roundabout

Tel: 974 4582128

Fax: 974 4501270

Email: alphastar@qatar.net.qa

Chennai, India:

M/s Alpha Star Trading (P) Ltd.
#145 (old #77), Ground Floor
Perambur Barrecks Road

Vepary, Chennai - 600 007
Telefax: +91 44 42822367

Email: fareed @alphastarindia.com

e sl v I

FIXWELL PRODUCTS




Product Index

Split Clamps - Unlined .. ............
Split Clamps - Lined ................

Clevis Hanger - Light Duty ........... 5
Clevis Hanger - Heavy Duty .......... 6
Clevis Hanger-Long ............... 7
Sprinkler Pipe Clamp - Lined ......... 8
Adjustable Swivel Ring .............. 9
Riser Clamp - Equal ................ 10
Riser Clamp - Unequal .............. 11
Drop in Anchors ............... ... 12
H Section (Beams) ................. 15
Equal Angles ...............ouennn 17
CHAANGBIS .. vaneroimssssasmesssws 18
Plain SHUS . .cvvcememipasmbmismsms 19
Slotted:SUtS .. -r - migissimanss e 21
EG Slotted Struts . . .. . ...... .. 22
U-BBE & cvwnmenni@igosdampasamsman 2h
Treaded Accessories ............... 26
Treaded Rod ....z:5:5:ccsmsswswna 27
Nut&Washer ..........covveevennn 28
Hexagon Head Bolt . ............... 29
Concrete Inserts . ...........c...n 30
HSS Twist Drill Bits - Rolled, . ......... 37
HammerDrillBits .................. 38
Masonry Drill Bits .. ................ 39
HSS Bimetal Hole Saw Cutters . ...... . 40




Split Clamp

(Unlined) Fig: 700

SPECIFICATIONS

- Welded Dual nut M-8 + M-10

- Electro galvanised

- M-6 side screws with plastic washers

APPLICATIONS
- Horizontal and vertical installations
- Steel, copper and PVC pipes

DIAMETER

@ mm. INCHES | WIDTH x THICKNESS (mm.) | BREAKING LOAD | SAFE WORKING LOAD | PIECES / BOX
15-19 38" 20x2.0 6000 N/ 600 KG 2000 N/ 200 K@ 50
20-25 12" 20x2.0 6000 N/ 600 KG 2000 N/ 200 KG 50
26-30 34" 20x2.0 6000 N/ 600 KG 2000 N/ 200 K@ 50
32-36 1 20x2.0 6000 N/ 600 KG 2000 N/ 200 KG 50
38-45 114 20x 2.0 6000 N/ 600 KG 2000 N/ 200 K& 25
47-51 112" 20x2.0 6000 N/ 600 K& 2000 N/ 200 KG 25
53-58 - 20x2.0 6000 N/ 600 KG 2000 N/ 200 K& 25
60-64 2 20x2.0 6000 N/ 600 KG 2000 N/ 200 KG 25
68-72 - 20x2.0 6000 N/ 600 KG 2000 N/ 200 K& 25
74-80 212" 20 2.0 6000 N/ 600 KG 2000 N/ 200 KG 25
81-86 - 20 2.0 6000 N/ 600 K& 2000 N/ 200 KG 25
87-92 3 20x 2.0 6000 N/ 600 KG 2000 N/ 200 K& 25
99-105 312" 20x2.5 6000 N/ 600 KG 2000 N/ 200 K@ 25
107-112 : 20x2.5 6000 N/ 600 KG 2000 N/ 200 KG 25
113-118 4 20x2.5 6000 N / 600 K& 2000 N/ 200 KG 25
125-130 - 20x2.5 6000 N/ 600 KG 2000 N/ 200 KG 25
131-137 - 20x2.5 6000 N/ 600 KG 2000 N/ 200 K& 25
| 138-142 5 20x 2.5 6000 N/ 600 K& 2000 N/ 200 KG 25
148-152 - 20x2.5 6000 N/ 600 KG 2000 N/ 200 KG 25
159-166 6" 20x2.5 6000 N/ 600 KG 2000 N/ 200 K& 25
168-172 - 20X 2.5 6000 N/ 600 KG 2000 N/ 200 KG 25
. 200-205 - 20x2.5 6000 N/ 600 KG 2000 N/ 200 K& 25
L 215220 | @ 20x2.5 6000 N/ 600 KG 2000 N/ 200 KG 25




~ Split Clamp

(Lined) Fig: 800

SPECIFICATIONS

- EPDM rubber lining

- Noise reduction of 18 DB(A)

-Welded Dual nut M-8 + M-10

- Electro galvanised

-M-6 side screws with plastic washers

APPLICATIONS
- Horizontal and vertical installations
- Steel, copper and PVC pipes

DIAMETER
@ mm. INCHES WIDTH x THICKNESS (mm.) BREAKING LOAD SAFE WORKING LOAD PIECES / BOX
115-19 3/8" 20X2.0 6000 N/ 600 KG 2000 N/ 200 KG 50
20-25 12" 20X2.0 6000 N /600 KG 2000 N/ 200 KG 50
26-30 3/4" 20X2.0 6000 N /600 KG 2000 N /200 KG 50
32-36 1 20X2.0 6000 N /600 KG 2000 N/ 200 KG 50
38-45 11/4" 20X2.0 6000 N/ 600 KG 2000 N/ 200 KG 25
47-51 112" 20X2.0 6000 N / 600 KG 2000 N /200 KG 25
53-58 - 20X2.0 6000 N /600 KG 2000 N/ 200 KG 25
60-64 2" 20X2.0 6000 N/ 600 KG 2000 N/ 200 KG 25
68-72 - 20X2.0 6000 N /600 KG 2000 N /200 KG 25
74-80 21/2" 20X2.0 6000 N /600 KG 2000 N/ 200 KG 25
81-86 20X2.0 6000 N / 600 KG 2000 N /200 KG 25
87-92 3 20X2.0 6000 N / 600 KG 2000 N /200 KG 25
99-105 312" 20X25 6000 N/ 600 KG 2000 N/ 200 KG 25
107-112 20X2.5 6000 N/ 600 K& 2000 N /200 KG 25
113-118 4" 20X2.5 6000 N/ 600 KG 2000 N /200 KG 25
125-130 - 20X2.5 6000 N/ 600 KG 2000 N/ 200 KG 25
131-137 - 20X25 6000 N/ 600 KG 2000 N/ 200 KG 25
138-142 5" 20X2.5 6000 N/ 600 KG 2000 N /200 KG 25
148-152 - 20X2.5 6000 N/ 600 KG 2000 N /200 KG 25
159-166 6" 20X25 6000 N/ 600 KG 2000 N /200 KG 25
168-172 - 20X25 6000 N/ 600 KG 2000 N /200 KG 25
200-205 20X2.5 6000 N/ 600 KG 2000 N/ 200 KG 25
215-220 g" 20X2.5 6000 N/ 600 KG 2000 N/ 200 KG 25

Clevis Hangers (wgntouy) Fig: 1100 stee

The Light Duty Clevis Hanger provides a vertical adjustment: of
approximately 1/4 - inch to 1 1/2 - inch according to size of hanger
after the pipe is in place. The lower nut adjusts pipe line to the
proper pitch and the top nut, when locked into position, prevents
loosening due to vibration.

This hanger should not be used when maximum temperature
exceeds 650° F

Order by pipe size and figure number,

|, Y ’ i \

7N ClH

\ [/ '\ l 7\

i Il NOTE:
1 v | = 1. ALL LOGOS REFER TO BDWG40974 4. FINISH:
I AND FILE DOC10007 3/8"~4": ELECTRO-GALVANIZED, MIN THICKNESS
2. ALL UNSPECIFIED TOLERANGE: 0. 015MM ON ALL OUTSIDE SURFACES
—X: +2 AND 0. 01MM ON INSIDE SURFACES
Luf +3 5. MATERIAL
3. ALL UNSPECIFIED GHAMFER: R1 NUT: 35
BOLT: 35
OTHERS: 0235
DIMENSIONS IN INCHES
Max Load WEIGHT

PART NO. SPEC Kgs A B c D E H s T G /Kg
FW1100010 | 3/8” 68 3/8" (M10) | 620 | 730 | 52 | 27 | 1/4"(M6) | 1.6%s 16493 25 | 0079
FW1100015 | 1/2” 68 38" (M10) | 620 | 730 | 52 | 27 | 14" (MB) | 165; 168 25 | 0.079
FW1100020 | 3/4" 1135 3/8"(M10) | 675 | 810 | 59 | 28 | 1/4”(Me) | 163 1B 25 | 0.086
FW1100025 i 1135 3/8" (M10) | 670 | 840 | 57 | 28 | 1/4"(M6) | 1.60; 160 25 | 0.094
FW1100032 |  1-1/4" 1135 3/8” (M10) | 805 |1020 | 68 | 33 | 1/4"(M6) | 1658 155 25 | 0108
FW1100040 |  1-1/2” 1135 3/8” (M10) | 875 |1120 | 73 | 30 | 14" (M6) | 24%; idiles 25 | 014
FW1100050 2" 1135 3/8" (M10) | 975 |128.0 | 79 30 | 14" (Me) | 24% 2453 25 | 0194
FW1100065 |  2-1/2” 15875 | 1/2" (M12) | 1075 | 145.0 | 81 36 | 1/4"(M6) | 3254 390 30 | 0332
FW1100080 ;i 158.75 | 1/2"(M12) | 1085 [153.0 | 85 | 32 | 1/4"(M6) | 3.2%: 450 30 | 0.369
FW1100090 |  3-1/2" 15875 | 1/2"(M12) | 1140 (1650 | 89 | 30 |5/16"(M8) | 3.20: 325 30 | 0426
FW1100100 4 181.4 5/8" (M16) | 1425 [200.0 | 102 | 43 | 3/8"(M10) | 4.8%; 32%s 30 | 0615




Hangers weaomrginses  ~ Clevis HaNGErS (o rwrans

The Clevis Hanger provides a vertical adjustment of approximately . -
1 1/2 inches after pipe is in place. The lower nut adjusts pipe line
to the proper pitch and the top nut when locked into position
prevents loosening due to vibration.

T
[
—
=
i
-
M

The nuts are not included. e

i
i
m\{
. ﬁ{_ =

Hangers for 18 inch pipe and larger are furnished with spreaders {* ) T m Re/ - 5
on the cross bolts. ) i L B/ W
| (U] s o5 7
Regularly furnished black. Galvanised or painted to order. = || &8 . o Eaa
Order by size and figure number. _ A R2/A . - ]
- L = = g ' R4
A L Q T I &
(] Y $ ; b4 -—=
T
Y ) NOTE: ¥
s ‘ 1. ALL LOGOS REFER TO BDWG40410 4. FINISH: ! |
L L b AND FILE DOG10007 1/2"-6": ELECTRO-GALVANIZED, MIN THICKNESS P A i
= =il e 2. ALL UNSPECIFIED TOLERANCE: 0. 015MM ON ALL OUTSIDE SURFAGES I i} S
TE. M __@__ _XX: +05 AND 0. 01MM ON INSIDE SURFACES BT i / \
5 1] T ran RS % 1 8247 PLAIN OR ELECTRO-GALVANIZED, MIN / ] \ [
7 b L | ) - +2 THICKNESS 0. 015MM ON ALL OUTSIDE : [ W, \
i S — |t 3. ALL UNSPECIFIED CHAMFER: R1 SURFACES AND 0. 01MM ON INSIDE SURFAGES i | =8y
\ / I | i 5. MATERIAL
\ 7/ \J/ NUT: 35
‘-—_|.—‘---" BOLT: 35
OTHERS: Q235
3/4nmln 1%u,.._,24n
DIMENSIONS IN INCHES NOTE:
1. ALL LOGOS REFER TO BDWG40953 4. FINISH:
A F WEIGHT Max AND FILE DOC10007 3/4"~6": ELECTRO-GALVANIZED, MIN THICKNESS
2. ALL UNSPECIFIED TOLERANCE: 0. 015MM ON ALL OUTSIDE SURFACES
PART NO. | SPEC| BOLT SIZE | HOLE BOLT SIZE HOLE| B | ¢ | D | E|G=15|H | § T R1 R2 /Kg Load CXG =05 AND'D. 01MM ON INSIDE SURFAGES
Kg g +1 8°~24"; PLAIN OR ELECTRO-GALVANIZED, MIN
i +3 : THICKNESS 0. 015MM ON ALL OUTSIDE
FW1200050 | 2" | 3/8” (M10) [B10.50 | 1/4"x3™" (M6x90) |@7.00 |37 |112| 24 | 13| 25 [10 | 3497| 25%5| 3069 | 5 0198 | 3315 3. ALL UNSPECIFIED CHAMFER: R1 . g SORFACES AN CIMAL ON SILE HREARES
NUT: 35
BOLT: 35
FW1200065 | 2-1/2°| 1/2" (M12) | @14.00 | 3/8”x4"™" (M10x125) |g11.00 50 | 144| 30 | 18| 30 [13 [4.0:05 | 4005 | 365 5°| 5 0.536 612 OTHERS: 0235
DIMENSIONS IN INGHES
FW1200080 | 3" | 1/2" (M12) |014.00 | 3/8"x5%™ (M10x135) (@11.00( 54 | 160| 30 | 18| 30 |13 |45:05 | 45:05 | 445 5°| 5 0.586 612 A F WEIGHT
PART NO. | SPEC | BOLT SIZE | HOLE BOLT SIZE HOLE|B | c|D|E| & [H| s T R1(Min) | R2 [R3 | R4 | /Kg
‘ FW1200090 |3-1/2°| 1/2" (M12) [#14.00| 3/8"x5%" (M10x145) |911.00| 57 | 176| 30 | 18| 30 [13 [45:05 | 45:05 | 510 5 | 5 0.638 649 — —
| FW130020 | 3/4" |3/8" (M10) |@10.50 |  1/4"x2" (M6x50) | e7.00 |30 | 105 - | —| 25 |10 | 3%5| 2595 | 135 3 | - | 3 | o165
| w " » . 05 05
| FW1200100 | 4" | 5/8" (M16) |@17.00| 3/8"x6™" (M10x165) |e11.00| 62 [ 200| 40 | 18| 30 [13 | 6105| 45:05 | 5755 | 8 0.793 849 FW130025 | 1" |3/8" (M10) |@10.50| 1/4™x2""™ (M6x55) |@7.00 |30 | 115 - | —| 25 |10 | 3%;| 26% | 17 3 | - |3 | 0182
FW130032 [1-1/4"| 3/8" (M10) | @10.50 | 1/4"x2*™ (M6x65) |o7.00 |30 [ 130| 24 | 13| 25 |10 | 3%:| 255 | 215 3 |3 |3 | 0%
FW1200125 | 5" | 5/8" (M16) |@17.00| 1/2x7*" (M12x195) |14.00{ 67 |230| 40 | 20| 30 |15 [ 6 93| 45:05 og |8 0.978 649 FW130040 [1-1/2"|3/8” (M10) | @10.50| 1/4"x2=" (M6x70) | 67.00 |30 | 140| 24 | 13| 25 |10 | 3%5| 2547 | 245 3 |3 |3 | 0213
. FW130050 | 2 |3/8" (M10)|@10.50| 1/4”x3*" (M6xB5) |w07.00 |37 [202| 24 [ 13| 25 [10| 395| 259 | 305 3 | 3|3 | 0283
| " » Qi 407 42 0
FW1200150 | 6 | /4" (20) | @22.00| 1/2'x8*" (M12x220) |#14.00) 70 | 260| 45 | 24| 40 |18 | 65| 45:05 ) 8454 ) 8 it | B . FW130085 |2-1/2°| 1/2” (M12) | @14.00| 3/8"xd™ (M10x105) |911.00{ 50 | 232| 30 | 18| 30 |13 |4.0:05 | 4505 | 38 4 |4 |40 | os3s
|
. ] FW130080 | 3" |1/2" (M12) |@14.00 | 3/8"x4™"" (M10x125) |#11.00| 54 | 250| 30 | 18| 30 |13 |4.0:0.5 | 45:05 | 445 5 |5 | 40 | a77t
FW1200200 | 8" | 3/4” (M20) [B22.00| 5/8"x11” (M16x280) [@17.00| 85 | 330 45 | 27| 40 |20 | 6 53| 45+05 | 10955° 8 202 907 ( ) =
FW1300100 | 4" |5/8" (M16) | @17.00| 3/8"x5™" (M10x150) |a11.00| 62 | 285| 40 | 18| 30 |13 | 63: | 45:05 | 575 6 | 6 | 40 | 0962
FW1200250 | 10" | 7/8” (M22) [B23.50 | 3/4"x14” (M20x355) [@22.00(127|430| 65 | 38| 50 |24 | 87%,| 67| 1365%5°( 10 4.202 1632 FW1300125 | 5" |5/8" (M16) |17.00| 1/2’x7"" (M12x200) |g14.00| 67 [ 317| 40 | 20| 30 |15 | 635 | 45405 71 6 | 6 | 40 | 1.168
FW1300150 | 6" |3/4" (M20) [@22.00| 1/2°x8™" (M12x225) |a14.00| 70 | 348| 45 | 24| 40 [18 | 6%7| 45:05 | 845 6 | 6 | 50 | 1687
FW1200300 | 12" | 7/8” (M22) | 823.50 | 3/4"x16"" (M20x410) [922.00(175| 535| 65 | 38| 50 [24 | 8%,| 6137 | 1620% | 10 4.9 1724 FW1300200 | 8" | 34" (M20) | 822.00 | /"1t (itexzes) |at7.00| 85 | 415] 45 | 27| 40 |20 | 6% | 45e05 | 1095 6 |6 | 50 | 1887
. 1 FW1300250 | 107 |7/8" (M22) | @23.50 | 3/4"x14" (M20x355) |922.00|127 | 512| 65 | 38| 50 |24 | 8%, 65 | 1365 8 | 8 | 75 | 4631
Al g ] 7o 22.00(149| 555| 75 | 38| 50 |24 | 107 69 | 1775% | 15 5.8 1908
: FIFIRODRN, 1% | Th(MES) \GE6.00) Btee (NEISO) 1o % = ! FW1300300 | 12" |7/8” (M22) | @23.50 | 3/4"x16"" (M20x410) |a22.00{175 | 615| 65 | 38| 50 |24 | 8% 6l | 162 8 | 8 | 75 | 5408
w | e 1 i s : 6.133
200400 | 167 | 1 (v2dy |g2650| o0 (weawsts) |e26sol12s 75| 75 | 50| 0 |5 | 10| s | 20353 | 15 024 | 2001 FW1300350 | 14" | 1" (M24) |@26.50 | 3/4"x17'2" (M20x445) |922.00(149 | 624| 75 | 38| 50 |24 | 103 Bor | 1775 |10 [10 | 75
FW1300400 | 16" | 1" (M24) |@26.50 | 1"x20"" (M24x515) |026.50(125| 655| 75 | 50| 60 |35 | 10%s B4 | 2035 |12 |12 | 75 | 0.806
FW1200350 | 18" | 17 (M24) |02650| 1"x22"" (M24x565) |926.50(150| 650| 80 | 50| 60 (35 | 12%s| 8%, | 229.0% (20 | 10849 | 2183 FW1300450 | 18" | 17 (M24) |@26.50| 1"x22"" (M24x565) |@26.50(150|730| 80 | 50| 60 |35 | 123 84 | 229 15 [15 | 75 | 11.412
FW1300500 | 20" [11/4" (M30)|@32.50 | 1%"x24%" (M30x620) |p32.50(165 | 805| 90 | 65| 70 |45 | 14hs| 83 | 254 15 |15 | 75 | 16.665
FW1200350 | 20" |11/4” (M30)| 832,50 | 11/4"x24®" (M30x620) [832.50{165| 720| 90 | 65| 70 |45 | 14%s| 855 | 254.0% | 20 15.71 2183 Fw1300600 | 24" [11/4" (v30)| @250 | 19rsag (Msox740) | 3250|180 | 925] 0 | 65| 75 |45 | 16t | 0% | 05 o0 |90 | 75 | 20113
|




Sprinkler Pipe Clamp wwaruoo  “Adjustable Swivel Ring - oo se

SPECIFICATIONS

- Electro-galvanised

- EPDM rubber lining

- Noise reduction of 18DB (A)

Adjustable Ring is constructed entirely of
steel. The Swivel Nut is knurled to provide
a gripping surface for the use of pliers when
adjusting the pipe. The nut has a retainer to
keep it from dropping out of the ring while
it is in the open position being fitted on to

APPLICATIONS

- suspending pipes in fire fighting systems
- Steel, copper and PVC pipes

DIMENSIONS IN INCHES

the pipe.

Order by size and figure number. For copper

tubing refer to Fig. 1800 CT

Max,
PIPE WEIGHT
SIZE Focom, A B ¢ B E Per 100 ps. |
P 300 8 21 11616 3 arte 1116 12 |
! 114" 300 318 93/4 2 3016 13/16 13
o 16/16 378 16/32 14
DIAMETER 1172 300 38 2 2 /.
mm. INCHES WIDTH x THICKNESS (mm.) | HOLE @ mm. BREAK LOAD KGS. SAFE LOAD KGS. PIECES / BOX u 300 3/ 35/16 218 41/2 15/16 16
‘ 25-30 34" 25x%1.5 8.5 1350 450 100 |
32-36 1" 25%1.5 8.5 1350 450 100 21" 500 " 4 258 L 17 30 |
‘ 38-42 114" 25x%1.5 8.5 1350 450 100 g 500 12 4 9/16 23/4 6 5/16 111/16 34
‘ 47-50 117" 25x1.5 8.5 1350 450 100
| 60-64 2! 25x1.5 8.5 1350 450 100 4" 900 5/8 50/16 3 6/16 713116 1 13/16 43
75-80 212" 25x%x2.5 10.5 2200 700 100 i
| 82-00 3 25x2.5 105 2200 700 50 § 900 678 A 3 916 2 68
‘ 100-106 312" 25 % 2.5 10.5 2200 - 700 50 6" 1300 3 73116 378 1058 23/ 114
| 114-119 4" 25%2.5 10.5 2200 700 25
' 133-140 5" 30x 3.0 12.5 2600 850 25 g 1800 /8 § 11/16 498 1318 278 136
159-165 6" 30x3.0 12.5 2600 850 25




- Fig: 189 Steel

Clamp -rig: 1126 stee

Fig. 189 Riser Clamps are the same as the Fig.
1126 except for leg dimensions.

Fig. 1126 Riser Clamps are designed for standard
steel pipe 0.D. which must be considered when
used for other types of piping.

i la—— ] L—‘ ——
I
| A
| DIMENSIONS IN INCHES DIMENSIONS
PIPE Max. Weight PIPE Max. : Weight
‘ SIZE Recom. A Steel Size Bolt Size pel'1llg pes. SIZE Recom. A Steel Size Bolt Size per 100 pes.
| Load, Ib. Load, Ih.
|
172" 255 9 3/8 316 % 1 1/4 a8 x11/4 130 1/2" 255 9 3/8 316 x 1 1/4 38 %11/ 130
3/4" 255 9 3/8 316 x 1 1/4 38 x11/4 136 3/4" 255 9 3/8 316 x 1 1/4 8 x11/4 136
| 1" 255 9 5/8 316 X 1 1/4 3/ax11/4 138 i 255 9 5/8 316 x 1 1/4 38x11/4 138
‘ 11/4" 255 10 174 % 11/2 3/8x11/4 195 11/4" 255 10 14 x 1 1/2 3/8x 1174 195
|
11/2" 255 10 /8 114%11/2 38 x 1 1/4 201 172 255 10 3/8 1ax1e 38 x11/4 201
2 255 10 3/4 Yax 112 mex 112 217 2 255 10 3/4 174 %1 1/2 716 % 1 1/2 217
| 2 /2 290 11 1/4 1ax 112 7116 x 1 1/2 229 212" 390 11174 174x 1172 76X 1172 229
3" 530 12 174% 1172 M6 X1 172 250 ¢ 580 L WAt oI A e 250
4 810 13 1/2 74X 1172 12 x1 172 342 # a4l e Rt 1R Lt 52
5 1160 14 172 14 x 2 12 %1 12 510 i L Wk M2 UL 510
6" 1/4 x 2 1/2x11/2 550
1 6 1570 16 172 14 x 2 172 %1 172 550 18il 1ave e ik
g 2500 18 1/2 38X 2 5/8 % 2 1000
8" 2500 18 1/2 3/8 % 2 5/8 X 2 1000 4
10" 2500 20 3/4 38X 2 5/6 x 2 1140
10" 2500 20 3/4 3/8 % 2 5/8 % 2 1140
12" 2700 22 3/4 1/2x2 5/8x 2 1/2 1760
12 2700 22 3/4 “1j2x 2 5/8% 2 1/2 1760
14" 2700 24 12 %2 5/8%21/2 1925
14" 2700 24 /2% 2 5/8%21/2 1925
16" 2900 26 5/8 %2 1/2 3/4%3 3250
16" 2900 26 B/8 % 21/2 34 %3 3250
18" 2900 28 5/8% 2 1/2 34 %3 3375
18 2900 28 5/8% 2 1/2 34 x 3 3375
20" 2900 30 58 %212 3/4%3 3500
l 20" 2900 30 5/8% 2 1/2 343 3500




‘Drop in Anchors

SPECIFICATIONS

DROP IN

ANCHOR

M6 x 8 x 25
M8 x 10 x 30
M10x12 x40
M12 x 15x 50
M16 x 20 x 65
M20 x 25 x 80

PULL oUT
LOAD

850 - 950 KGS
1,250 - 1,350
1,850 - 1,950
2,800 - 2,900
4,700 - 4,850
5,700 - 5,900

M6 : 30 MM
M8 : 35 MM
M10 : 45 MM
M12 : 55 MM
M16: 70 MM
M20 : 85 MM

CONCRETE
THICKNESS

60MM (MIN)
70MM (MIN)
90MM (MIN)
110MM (MIN)
140MM (MIN)
170MM (MIN)

1.5MM (MIN)
2.0MM (")
2.0MM (")
2.0MM (")
2.0MM ()
2.0MM (")

EXPANSION
FACTORS

THE ABOVE VALUE WERE OBTAINED USING 200-250 KGS/CM CONCRETE (NO AGGREGATE); SAFE WORKING LOAD SHOULD NOT EXCEED 25%

AN/ C
OR
M6 0.085 0.023
M8 0.080 0.09 0.36 0022 0022
M0 0070 0.15 0.39 0.023 0.026
M2 0072 0.15 040 0.027 0.035
M16 0.039 0.10 0.30 0013 0.011
M20 0040 012 032 0.015 0013
PRODUCT ANCHOR ANCHOR QUANTITIES WEIGHT
CODE DIAMETER LENGTH BOX/CTN. KGS/1000
(D) pcs
FAU-14 1/4-20 77" 100/ 2000 105
FAU-38 36-16 172" 58" 1-9/16" 50/1000 27.3
FAU-12 1/2-13 58" ' 2 50/500 53.0
FAU-58 5/6-11 78" 331" 2:172" 25/200 141.0
FAU-34 34-10 " 148" 3-3/16" 15/12
FAM-6 M6
FAM-14 Wi/4 8 11 2 100/2000 65
FAM-8 V8 _
FAM-516 W5/16 10 14 30 100/2000 127
FAM-10 M0
FAM-38 Wa/8 12 19 40 50/1000 245
FAM-12 M2
FAM-12 Wiz 15/16 2 50 50/ 500 500
FAM-16 M16
FAM-58 W5/8 2 &) 6 25/200 1130
FAM-20 M20
FAM-34 W3/4 2 3% 80 15/120 2300 |

STAINLESS STEEL (A2 . A4) AVAILABLE.

SPECIAL LENGTH OR DRAWING ACCEPTABLE.



Alpha Star trabinG

sypoddnsg @
siobuey

Abu Dhabi, UAE:

Muroor Road,

Next to Red Crescent Bldg
Tel: 971 2 6417599

Fax: 971 2 6418511
Email: astarauh@eim.ae

P.0O. Box 80955,

Deira, Fish Roundabout
Tel: 971 4 2234928
Fax: 971 4 2239349
Email: astartrd@eim.ae

Ain Khalid Roundabout

Tel: 974 4582128

Fax: 974 4501270

Email: alphastar@qatar.net.qa

Chennai, India:

M/s Alpha Star Trading (P) Ltd.
#145 (old #77), Ground Floor
Perambur Barrecks Road

Vepary, Chennai - 600 007
Telefax: +91 44 42822367

Email: fareed @alphastarindia.com




